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AND
OR

6)liadl

Greater or equal to: a >=b

Relational operators

Equalto:a=b

Mot equal to: a = b. The equivalent symbal is also recognized by LARF.

Both conditions must be satishied: a » 0 AND a < 100

At least one of the conditions must be satisfied- a<10Ra> %

Logical operators

Logical negation of & condition: !(a 15 INTEGER). Reserved word NOT 1s equivalent.
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IF-else-1F 07 daadl) Ji) die ) malipl) 754 sala

i:'ul.i_b.il
-1 =h
int x; int x;
cont<<"enter number:"; cont<<"enter number:":
cin>>x; cin>>x;
1f(xX>5) cont<<"** " Jendl; if(x=5) cont<s™** s sandl ;
else else
cout<<"++++++"<<endl: = {cont<<"+++++4+"<<endl;
oomtceMo————— " sendl e cont<ssM—————— "o<endl; )
return O; retarn C;
& ]_| o }l

L dtilaadla ¢ ga
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|F-else-1F

LA glaall gali sl (581 gall Jakaiiall an )

Al malizd Jos sale

i:'uLi_El.il
q —| {
5 int a, b:
[ cont << "Enter two numbers: ";
7 cin »>»> a >> b;
8 ifib '= 0)
= cont << a/b << "'\n':
10 else
11 cont << "Cannot divide by zero.\n":
12 retorn O
13

b
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6)jliaJl

TITL IO LI T ]

=g

Enter A : -5

]

Process returned & (6x8) execution time : 6.515 s

int & -
cont << "Enter & :@: "; T
cim —e Dis Press any key to contlnue.
if ( A »>= 90 &&
cont << ++0
else 1f [ A <=

cont << ——A;
else 1f (| & == 0 =00
cont << A% (—1);
el=se
cont << "STOP\O":
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|F-else-1F

70 daadl) Jiy de JGY galid) g3 sale

/ WEITE "Enter grade™ /

grade>=gl

/ WRITE "passed™ /

:

w0 M =] s W B

= = b b
O FUR N T B

#iHCleE <lostream:
nsing namespace std;

int main()

=k
int grade ;

cin >> grade;
if ( grade >= &0 )

retuorn 0;

cout << "Enter grade : ";

r

cont << "Passed Rn"d
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70 daadl) Jiy de JGY galid) g3 sale

o=l ook b

[ S S S
oMo b W R e O

=+

tincludese <iostreams

n=ing namespace =td:

int main()

int grade :
cont << "Enter grade : "
oin >»> grade:
if ([ grade >= &l ]
cont << "Passed \n";
el=sea
cont <<
"failed “n";
retarn O

cont <<

"zrtudent i=s \n":

6)li_all

/'H'RITE "Enter grade“/

%

/EEI—LD grade/

okl A8 Jabadal) e el pal) (381 g5 Aa 585 (oA} paauall) (9

/'HRITE “passed“/

grade>=a0

/'HP.ITE "student is failed“/
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("C“ak) GPA>=65)L ("B gkl GPA>=75) WL ("A" k) GPA>=85) Ll ("A+" &kl GPA>=95)
an &h‘ Y‘J ("D“@b‘ GPA>=60)L“

1
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Py

Als o 11

= 11

= int GPA;

B cont<<"EEPL=";

7 cin>>GPA;

8 1f (GPA-==35) cont <<"A4+"<< endl;
S else 1f (GPA>=I25) cont <<"A"<< endl;
L0 else 1if (GPL>=T73%) cont <<"B"<< endl;
| 1 else 1f (GPA>=c5) cont <<{"C"<< endl;
| 2 else 1f (GPA>=g0) cont <<"D"<{< endl;
| 3 else

| 4 cont <<"F"<< endl:;

| o retorn O:

| & }

|7 =

https://manara.edu.sy/



https://manara.edu.sy/

- ) i) Jalasall 38 gall peali all i)

7

i

/ WRITE "Frozen" / / WRITE "Cold” /

g

/ IRITE "Tarn” /

§

/ IRITE "Very hot” /

g

/ WRITE "Burning

i
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Switch @ daaiall JLSAY) Al 3 a8, JAa die ) geali ) z A sale

-

$#include <iostream>
hsing namespace std;

switch (variable name) int maini)
case 1 : statement 1 ; break ; =¥
case 2 : statement 2 ; break ; int c :
case 3 : statement 3 ; break ; cont << "enter number of the day: " :
s cln >> C ;
case n : statement n ; break ; switch (c )
default : last statement ; =r
case 1 { cont << " gaturday " ; break ; }
case 2 { cont << " gunday " ; break ; }
case 3 { cont << " monday " ; break ; }
. i case 4 { cont << " fuesday " ; break ; }
tﬁuy\d‘eﬁ@%@hﬁ case 5 { cont << " wednesday " ; break ; }
) s case o { cont << " fhursday " ¢ break ; }
case 7 { cont << " fridavy " ; break :; }
defanlt : { cont << " that number 13 out of range " ; 1}

— }
retorn O
)
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Lnleal) cdlalaall aaf Ciad) )\S 13) &by Siga cal) oS 1Y)

.Ji‘ 9‘:.;& (...SY

B "ChAUsers\moeoeon\AppData\Roeaming' Microsoft\Windows\5tart MenuProgramshCq

gl g oA

;janQYN\Q*MJSAAU@})@&J@i Crcase (m S| Ze Liiay 14Biadle
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ZY

#include <iostreams
n=ing namespace =std;
int main()
(=14
char ch;
cont<<"enter a char:":;
cin>=>ch;
[—] switch (ch) {

case " =" tcase =" roase” " rocase " o' rtoase " 0"

cont<<"it iz a vowel'\'n":break:

case " " roase - roase roage " roase = o
cont<<™it is an operator\wn":break:;

defanlt:cont<<"™it i=s something elsewn":break:

retoarnm O

i
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Al malizll Jas Jls

int &,B, result; char op;
cout << "Enter A:" << endl; cin =>> A;
cout << "Enter B:" << endl; cin *> B;
cout << "Enter the operation:" << endl; oin >> op;

switch (op)
{

case '+': result = A + B; cout << result;
break;
case '—': result = & — B;cout << result;
break;
case '*': result = A * B;cout << result;
break;
case '/': result = & / B;cout << result;
break;
default: cout << "unknown operation: " << op << endl;|;

}

return O;
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Thank you
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